Valves

Control Cable Identification

COMPONENTS

4 )
Control Cable Identification
LEVER END VALVE END DESCRIPTION APPLICATION
M16x1.5 M16x1.5
M6 + M6 .
Type: SQC1 (Page 75 & 81a) Various
i . McHale
' Universal ends Wrapper
Hook+Type M1T1-5 M6 Type: 211450 (Page 76)
um mm%!' Hook type handle end to suit Various
: Morse low load lever (211111) and
universal valve end connection
Loose nut to suit M16x1.5
Morse MKII Lever + ' M6 Type: 210498 (Page 77 & 81a)
. . Tanco
Loose nut connection to suit McConnell
Morse MKIII lever and universal
valve end connection
Type: 4K (Page 79 & 80)
Ball type joystick connection to Various Loaders
suit Morse / Nimco and universal
valve end connection
Ball Loose nut to
Type '\"1‘?1-5 suit ipool Type: 4K5099 (Page 81)
e — o] mm Ball type connection to suit Clies s s
. . Loaders
joystick and loose nut valve end
connection. 2.7metres long
Ball
Type Type: QCC (Page 81)
_ - Quickie Loaders
e ] WJ Ball type joystick connection and 300, 400, 500,
spade end connection to suit 600, 700, 900
Supplied with ¥ valve
attachment ﬁ
M+5 M+12 M1T1-5 M+5 Type: QCC (Page 81)
"‘Mﬂm % M5 Inner / M12 Outer joystick (Eg;%ke'?
connection and M5 Inner / M16
QOuter connection to suit valve
Clevis
End MlTl-E’ M6 Type: RCC (Page 78)
Y v Spearhead,
(—- ! wa:__ﬂ Clevis end to suit Indemar remote Lucas,
© control lever and universal valve Various
end connection
Ball
T)iae MltI(l.S Type: SCC (Page 81a)
P T al—— = ‘, — . . .
. %}__L_,-_;_ e e "'"'_—___.-—-_.#I-_"':;) Ball type joystick connection and Stoll Loader
: M16x1.5 outer sleeve and clevis
on the valve end
. J
www.mchc.ie 74b 1YMcHUGH



Valves

Remote Cable Control

4 A
Remote Handles to suit Galtech SQ Valves
' Use in conjunction with SQ cables.
: TO SUIT PART NUMBER
' 1 Galtech SQ25, SQ30, SQ35, SQ45 SQ925CSL
I \ Galtech SQ75, SQ80, SQ95, SQ130 SQ975CSL
Joystick to suit Galtech SQ Valves
Use in conjunction with SQ cables.
No. TO SUIT PART NUMBER
\ 2 \ Joystick without switch to suit Galtec SQ valves \ SQSLA151U \
Joystick Handle c/w Switch to suit Galtech SQ Valves
Handle with electric switch for SQ Joystick to enable a Solenoid valve (M10 female thread).
DESCRIPTION PART NUMBER
3 Joystick handle c/w switch - 1 function SQSLAH
1 2 3 \ Joystick handle c/w switch - 2 function SQSLAH2
M16x1.5 Standard Remote Cables to suit Galtech SQ (M16x1.5)
?E.' Use in conjunction with attachment kits.
"*'E"’,mf; TR S = M16x1.5 outer sleeve and M6 inner cable on both ends.
DESCRIPTION PART NUMBER
1.0 metre standard remote cable SQC11000
1.5 metre standard remote cable SQC11500
2.0 metre standard remote cable SQC12000
2.5 metre standard remote cable SQC12500
3.0 metre standard remote cable SQC13000
M16x1.5 3.5 metre standard remote cable SQC13500
Attachment Kits
TO SUIT MODELS PART NUMBER
i - SQ25, SQ30, SQ35, SQ45 SQ925CA8
o0
‘gj - SQ Valves SQ75, SQ80, SQ95 SQ975CA8
' o SQ130 SQ9130CA8
Kontak valves
KONTAK (Unit10 / KA18) 211597
Walvoil loader valve
WALVOIL SDM8/DL AK9DSM11
?*.\ —’ P40 P940CAK
Y
BADESTNOST
o= Feo X P80 PYBOCAK
- J
www.mchc.ie 75 h‘ McHUGH

COMPONENTS



Valves

Remote Cable Control

(

Handle End

L;—f*" W

Attachment Kits

Morse Low Load Control Handle
Use in conjunction with 21145 cables (shown below).

DESCRIPTION PART NUMBER

~

Morse low load control handle 211111
Mounting plate to suit Morse low load control handle 210979
Retaining slide 210977

Remote Control Cable to suit 211111 Morse Control Handle

Remote control cable with M16x1.5 outer sleeve and M6 inner cable on the valve end and a

hook type connection on the control end.

DESCRIPTION PART NUMBER

1.0 metre remote cable to suit Morse control handle 2114500100
1.5 metre remote cable to suit Morse control handle 2114500150
2.0 metre remote cable to suit Morse control handle 211450020
2.5 metre remote cable to suit Morse control handle 211450025
3.0 metre remote cable to suit Morse control handle 211450030
3.5 metre remote cable to suit Morse control handle 2114500350

TO SUIT MODELS PART NUMBER
_— ' SQ25, SQ30, SQ35, SQ45 SQU25CA8
LN SQ Valves SQ75, SQ80, SQI5 SQO75CA8
o SQ130 SQU130CA8
Kontak valves
KONTAK A TE 211597
Walvoil loader valve
WALVOIL o) AK9DSM11
?.\ — P40 P940CAK
W
BADESTNOST
o= ¥\ =
i & Y P80 P9BOCAK
. J
www.mchc.ie 76 1YMcHUGH

COMPONENTS



Valves

Remote Cable Control

e

Handle End

Attachment Kits

Morse MKII Control Handle

Use in conjunction with 210498 cables (shown below).

DESCRIPTION PART NUMBER

Morse MKIII control handle

~

212502

Mounting plate to suit Morse MKIII control handle

207194

Remote Control Cable to suit 212502 Morse Control Handle

Remote control cable with M16x1.5 outer sleeve and M6 inner cable on the valve end and a

loose nut connection to suit Morse MKIII control handle.

DESCRIPTION PART NUMBER

1.0 metre remote cable to suit Morse MKIII control handle 21049800100
1.5 metre remote cable to suit Morse MKIII control handle 21049800150
2.0 metre remote cable to suit Morse MKIII control handle 21049800200
2.5 metre remote cable to suit Morse MKIII control handle 21049800250
3.0 metre remote cable to suit Morse MKIII control handle 21049800300
3.5 metre remote cable to suit Morse MKIII control handle 21049800350

TO SUIT MODELS PART NUMBER
o SQ25, SQ30, SQ35, SQ45 SQ925CA8
.ﬂj‘ - f'" SQ Valves SQ75, SQ80, SQ95 SQ975CA8
‘ SQ130 SQ9130CA8
g Kontak valves
el
E}_ > (& KONTAK (Unit10 / KALS) 211597
¥
. — v Walvoil loader valve
— A - WALVOIL ey AK9DSM11
= OO
._ — P40 P940CAK
i\
BADESTNOST
o ¥\
.,‘*-a ' Y P80 P98OCAK
& J
www.mchc.ie 77 1YMcHUGH

COMPONENTS



Remote Cable Control

e A

INDEMWAR Remote Control Levers
Use in conjunction with RCC cables (shown below)

DESCRIPTION PART NUMBER

Remote control lever RCL3047
Remote control lever with anti reverse lock RCL3076

Mounting Kits for Remote Control Levers
Use in conjunction with RCL levers (shown above)

" DESCRIPTION PART NUMBER

ﬁ,f’ Mounting kit for 2 remote control levers RCL3105
e a o P26 : -

o Mounting kit for 3 remote control levers RCL3106

Mounting kit for 4 remote control levers RCL3107

Mounting kit for 5 remote control levers RCL3108

Clevis End Remote Control Cables to suit Indemar Control Lever

Remote control cable with M16x1.5 outer sleeve and M6 inner cable on the valve
end and a clevis connection to suit Indemar control lever.

DESCRIPTION PART NUMBER

1.0 metre remote cable to suit Indemar control lever RCC11000
1.5 metre remote cable to suit Indemar control lever RCC11500
2.0 metre remote cable to suit Indemar control lever RCC12000
2.5 metre remote cable to suit Indemar control lever RCC12500
3.0 metre remote cable to suit Indemar control lever RCC13000
M16x1.5 3.5 metre remote cable to suit Indemar control lever RCC13500
Attachment Kits
TO SUIT MODELS PART NUMBER
i - SQ25, SQ30, SQ35, SQ45 SQ925CAS8
Nl .
LY - SQ Valves SQ75, SQ80, SQ95 SQ975CAS8
' SQ130 SQ9130CA8
Kontak valves
KONTAK (Unit10 / KA18) 211597

Walvoil loader valve

WALVOIL S DMB/DL AK9DSM11
?*.\ - P40 P940CAK
b
BADESTNOST
.,“'i"g_‘h y > P80 P98OCAK
- J

www.mchc.ie 78 4YMcHUGH

COMPONENTS




Remote Cable Control

\
INDEMNAR Joystick to suit Ball Type Cables
Use in conjunction with 4K5 joystick cables
No. | DESCRIPTION PART NUMBER
1 Complete joystick without electric switches WK40010
1 Complete joystick with 1 electric switch WK40011
6 7 8
INDEMNAR Joystick Replacement Parts
No. | REPLACEMENT PARTS PART NUMBER
Handgrip only without switches - threaded fixing RCJ8774
2 Handgrip with 1 electric switch - threaded fixing RCJ8556
Handgrip only without switches - grub screw fixing RCJ8567
3 Centre piece to suit WK400 joystick RCJ8555
4 Housing to suit WK400 joystick c/w pivot post RCJ8554
5 Pivot post for joystick RCJ3717
6 Electric switch - single c/w 1.8m cable RCJ8470
7 Electric switch - double c/w 1.8m cable RCJ8492
8 Electric switch - triple c/w 1.8m cable RCJ8493
Joystick End Joystick Remote Cables
Jpr— Remote control cable with M16x1.5 outer sleeve and M6 inner cable on the valve
o r—— e end and a ball type connection on the control end to suit Nimco / Morse joysticks.
DESCRIPTION PART NUMBER
1.5 metre joystick cable to suit Nimco / Morse joystick 4K5055
2.0 metre joystick cable to suit Nimco / Morse joystick 4K5060
2.5 metre joystick cable to suit Nimco / Morse joystick 4K5065
2.7 metre joystick cable to suit Nimco / Morse joystick 4K5067
3.0 metre joystick cable to suit Nimco / Morse joystick 4K5070
M16x1.5 3.5 metre joystick cable to suit Nimco / Morse joystick 4K5075
Attachment Kits
TO SUIT MODELS PART NUMBER
i - SQ25, SQ30, SQ35, SQ45 SQ925CA8
) ‘
‘gj . SQ Valves SQ75, SQ80, SQ95 SQ975CA8
v SQ130 SQ9130CA8
Kontak valves
KONTAK (Unit10 / KA18) 211597
Walvoil loader valve
WALVOIL SDM8/DL AK9DSM11
?} ot P40 P940CAK
\ - BADESTNOST
o= ¥\ =
.,“'i P y > P80 P98OCAK
- J

www.mchc.ie 79 4YMcHUGH

COMPONENTS




e A

Nimco Joystick to suit Ball Type Cables
Use in conjunction with 4K5 Nimco cables.

Complete joystick without electric switch - replaced by WK40010 (see page 79)
Complete joystick with 1 electric switch - replaced by WK40011 (see page 79)
1 Handgrip only without electric switches WKG10

- Blanking plate for handgrip without switch WKEP10
Handle plate with single electric switch to suit WK300 WKEP11
- Handle plate with double electric switch to suit WK300 WKEP12

Handle plate with triple electric switch to suit WK300 WKEP13
4 Centre piece RCJ8555
5 Pivot post to suit WK300 joystick RCJ3717
1 Replacement Parts for 'Old Type' Morse Joystick
3 (263940501 / WK200)
2_ No. DESCRIPTION PART NUMBER
‘}i i i 1 Handgrip only without electric switches 263850
1% 2 Electric switch for WK200 joystick 263851
8 Pivot post to suit WK200 joystick RCJ3717

Joystick Remote Cables
Remote control cable with M16x1.5 outer sleeve and M6 inner cable on the valve

Joystick End

e end and a ball type connection on the control end to suit Nimco / Morse joysticks.
DESCRIPTION PART NUMBER
1.5 metre joystick cable to suit Nimco / Morse joystick 4K5055
2.0 metre joystick cable to suit Nimco / Morse joystick 4K5060
2.5 metre joystick cable to suit Nimco / Morse joystick 4K5065
— 2.7 metre joystick cable to suit Nimco / Morse joystick 4K5067
3.0 metre joystick cable to suit Nimco / Morse joystick 4K5070
M16x1.5 3.5 metre joystick cable to suit Nimco / Morse joystick 4K5075
Attachment Kits
TO SUIT MODELS PART NUMBER
i - SQ25, SQ30, SQ35, SQ45 SQ925CA8
al — n ‘
) - SQ Valves SQ75, SQ80, SQ95 SQ975CA8
‘ SQ130 SQ9130CA8
Kontak valves
KONTAK (Unit10 / KA18) 211597

Walvoil loader valve

WALVOIL S DMB/DL AK9DSM11
?\ - P40 P940CAK
\ - BADESTNOST
o= %\ =
.—\""hutl y > P80 P98OCAK
- J

www.mchc.ie 80 E McHUGH

COMPONENTS




Special Application Remote Cable Control
-

\
Joystick End

e e P — Claas 'S' Series

Remote Control Cable to suit CLAAS 'S’ Series Loader

Remote control cable with M16x1.5 outer sleeve and loose nut on the valve end
and a ball type connection on the control end to suit Nimco / Morse joysticks.
. DESCRIPTION PART NUMBER

\ 2.7 metre remote cable to suit Claas 'S' Series Loader \ 4K5099 \

Valve End
. J

4 N

Handle End

Mc Connell

Remote Control Cable to suit Mc Connell
Remote control cable with M16x1.5 outer sleeve and M6 inner cable on the valve
end and a loose nut connection to suit Mc Connell control handle.

DESCRIPTION PART NUMBER

2.0 metre remote cable to suit Mc Connell control handle 21049800200
2.5 metre remote cable to suit Mc Connell control handle 21049800250
3.0 metre remote cable to suit Mc Connell control handle 21049800300
M16x1.5
\ J
4 A

M16x1.5
Mc Hale - Bale Wrappers

Cables to suit Mc Hale Bale Wrappers
M16x1.5 outer sleeve and M6 inner cable on both ends.

DESCRIPTION PART NUMBER

3.0 metre standard remote cable SQC13000
3.5 metre standard remote cable SQC13500

M16x1.5

www.mchc.ie 81 1YMcHUGH

COMPONENTS




Special Application Remote Cable Control
4 )
Quickie Loader
Remote Control Cable to suit QUICKIE
Remote control cable with M16x1.5 outer sleeve and M5 inner cable on the valve
Joystick End end and a M12 outer sleeve and M5 inner cable (to suit Quickie) on control end.
DESCRIPTION TO FIT AS PART NUMBER
0.5 metre remote cable to suit Quickie 5020312 QCC5020312
0.7 metre remote cable to suit Quickie 5020316 QCC5020316
1.0 metre remote cable to suit Quickie 5020320 QCC5020320
1.2 metre remote cable to suit Quickie 5020313 QCC5020313
1.45 metre remote cable to suit Quickie 5020321 QCC5020321
1.6 metre remote cable to suit Quickie 5020311 QCC5020311
2.0 metre remote cable to suit Quickie 5020317 QCC5020317
Valve End 2.4 metre remote cable to suit Quickie 5020314 QCC5020314
3.15 metre remote cable to suit Quickie 5020318 QCC5020318
3.35 metre remote cable to suit Quickie 5020319 QCC5020319
Quickie Loader
Joystick End Remote Control Cable to suit QUICKIE
» - « To suit Quickie 300, 400, 500, 600, 700 & 900
ey — J Remote control spade on the valve end and a ball type connection on the control
end to suit Nimco / Morse joysticks.
DESCRIPTION TO FIT AS PART NUMBER
1.2 metre remote cable to suit Quickie 5020351 QCC5020351
1.4 metre remote cable to suit Quickie 5020352 QCC5020352
. - 1.6 metre remote cable to suit Quickie 5020353 QCC5020353
' 1.8 metre remote cable to suit Quickie 5020354 QCC5020354
Valve End 2.0 metre remote cable to suit Quickie 5020355 QCC5020355
2.2 metre remote cable to suit Quickie 5020356 QCC5020356
2.4 metre remote cable to suit Quickie 5020357 QCC5020357
2.6 metre remote cable to suit Quickie 5020358 QCC5020358
Supplied with 2.8 metre remote cable to suit Quickie 5020359 QCC5020359
attachment kit 3.0 metre remote cable to suit Quickie 5020360 QCC5020360
3.2 metre remote cable to suit Quickie 5020361 QCC5020361
- J
/ )
Handle End
A Stoll Loader
Remote Control Cable to suit Stoll Loader
Remote control cable with M16x1.5 outer sleeve and clevis on the valve end and
a ball type connection on the control end
g j—
p———— - —-’-_'; | 2.2 metre remote cable to suit Stoll loader \ SCC022 |
M16x1.5
. J

www.mchc.ie 8la 4YMcHUGH

COMPONENTS




